read;nvar=17;nobs=453;file=U:\00Work-Purdue\new_laptop\CE697N-disk\LOGIT-A1.txt$

create;cage=86-x15$
rplogit;lhs=x1;choices=arterial,rural,freeway;model:
u(arterial)=dist*x7/
u(rural)=rural*one+dist*x7+cager*cage/
u(freeway)=freeway*one+dist*x7+malef*x11+cagef*cage
;fcn=dist(n);pts=200;halton$

lclogit;lhs=x1;choices=arterial,rural,freeway;model:
u(arterial)=dist*x7/
u(rural)=rural*one+dist*x7+cager*cage/
u(freeway)=freeway*one+dist*x7+malef*x11+cagef*cage
;pts=2$
lclogit;lhs=x1;choices=arterial,rural,freeway;model:
u(arterial)=dist*x7/
u(rural)=rural*one+dist*x7+cager*cage/
u(freeway)=freeway*one+dist*x7+malef*x11+cagef*cage
;pts=3$
